6G19 REVERB UNIT WIRING DIRGRAM

N\
\ OUTPUT

ON/OFF 1 AMP FUSE PILOT LIGHT INPUT /

MIX [ TONE

250K Lin / “ 100K Lin

N 4

DWELL
250K Lin

MOJO779 e (S
POWER TRANSFORMER Y
o EINSULATE

y -
| @
GROUND
\\TAB/
o
MOJO778 NOS771
CHOKE OUTPUT TRANSFORMER
REVERB
OUTPUT
HARDWARE:
8 QTY 4-40 X 1/4" SCREWS FOR NOVAL TUBE SOCKETS AND CAPACITOR PAN
2 QTY 4-40 X 3/8" SCREWS FOR OCTAL TUBE SOCKET REVERB 12AT7 REVERB 7025
10 QTY 4-40 KEPS NUTS 6veé INPUT ECC81 PEDAL 12AX7
4 QTY 6-32 X 1/2" SCREWS FOR EYELET BOARDS ECCs3

4 QTY 6-32 KEPS NUTS
6 QTY 8-32 X 1/4" SCREWS FOR TRANSFORMERS
6 QTY 8-32 KEPS NUTS

2 QTY 10-32 X 1 1/2" SCREWS FOR CHASSIS mnan 6G15 REVERB UNIT
2 QTY 10-32 KEPS NUTS REVISION 6

L N = 12/6/23







